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QUESTION 1

When you perform an "Add Subsystem" operation within Hitachi Device Manager (HDvM), you receive an error
message. Which troubleshooting step would you perform first?

A. Restart HDVM.

B. Check license status.

C. Open a case with HDS Support.

D. Check the storage system for any inconsistent condition.

Correct Answer: D

QUESTION 2

You have reported a Hitachi Device Manager problem to the HDS Global Support center and you are asked to provide
troubleshooting data. Which Web site would allow you to upload the data?

A. https://tuf.hds.com

B. http://www.hds.com

C. https://support.hds.com

D. https://customerservice.hds.com

Correct Answer: A

QUESTION 3

You use Hitachi Device Manager to provision storage. During the provisioning process, what information must you
provide? (Choose two.)

A. the name of the host being provisioned from the storage system

B. the WWN of the FC port of the storage system connected to the host\\'s HBA
C. the FC port name of the storage system connected to the host\\'s HBA

D. the FC path priority settings

Correct Answer: AC

QUESTION 4

On a server with intensive sequential I/O profile, you have set Extended Round Robin within Hitachi Dynamic Link
Manager. Which two benefits result from implementing this algorithm? (Choose two.)
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A. tracks preloaded to cache

B. blocks held permanent in Read Cache

C. no tracks preloading on the system

D. efficient cache usage on the storage system

Correct Answer: AD

QUESTION 5

You want to use Hitachi Device Manager (HDvM) to manage your existing Hitachi Dynamic Provisioning (HDP)
environment. Which three HDvM CLI commands can be used? (Choose three.)

A. AddPool
B. GrowPool
C. ModifyPool
D. MapLun

E. AddLun

Correct Answer: ACE

QUESTION 6

The storage administrator of a VSP must create an LDEV using Hitachi Device Manager. The VSP has already been
selected in the Subsystems screen. Which option is available from the General Task menu to perform this task?

A. Create LDEV

B. Create Volumes
C. Allocate Storage
D. Storage Navigator

Correct Answer: B

QUESTION 7

What information is provided by the Hitachi Device Manager Agent to the Hitachi Device Manager server? (Choose
three.)

A. WWN

B. IP address
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C. domain name
D. host name
E. MAC address

Correct Answer: ABD

QUESTION 8

Hitachi Dynamic Link Manager is being used with a VSP system in a multi-path environment with intense sequential
I/0s. What are two Hitachi recommended load- balancing algorithms for this environment? (Choose two.)

A. Least I/O

B. Least Block

C. Extended Least I/O

D. Extended Round Robin

Correct Answer: CD

QUESTION 9

You are about to restore the HIRDB database on a Hitachi Command Suite (HCS) Windows server. But first, you must
stop the HCS services. How is this accomplished?

A. Use the Windows service panel from Computer Manager.
B. Use the HCS GULI.

C. Use the hcmdssrv command.

D. Use the hcmdsservices command.

Correct Answer: C

QUESTION 10

You are managing a Hitachi Device Manager environment and want to use the Element Manager to configure the Fibre
Channel ports on a Hitachi VSP storage system. Which two Fibre Channel port operations are permitted? (Choose
two.)

A. Set the port security.

B. Set the port online.

C. Set the port SFP wavelength.

D. Set the port speed.
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Correct Answer: AD

QUESTION 11

You want to log in to Hitachi Device Manager (HDvM), but an Internal Server Error is displayed in the Web Client. You
can ping the HDvM server, but no other operations can be performed. When troubleshooting, which two settings should
you verify? (Choose two.)

A. That the firewall is open for port 23015.

B. That the HDvM\\'s licensed capacity is sufficient.

C. That Common Component services are running.

D. That the memory heap size is sufficient.

Correct Answer: CD

QUESTION 12

You are using the Allocate Storage wizard in Hitachi Device Manager and you want to identify the storage. Which two
specification options are available? (Choose two.)

A. volume type

B. volume label

C. volume free space
D. volume location

Correct Answer: AD

QUESTION 13

You are installing Hitachi Device Manager (HDvM). During the installation, the database backup procedure failed and
the installation was interrupted. What should you verify?

A. If the HIRDB is corrupt.

B. If the HDvM Backup service is running.

C. If the installation media is corrupt.

D. If there is enough disk space on the backup destination.

Correct Answer: D

QUESTION 14
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You are using the Hitachi Device Manager (HDvM) CLI from a remote host to determine detailed information about a
storage system which is already registered in HDvM. Which CLI command can provide you with this information?

A. GetStorageStatus

B. GetServerinfo

C. DisplayStorageArray
D. DisplayServerinfo

Correct Answer: B

QUESTION 15

You are working within a Hitachi Device Manager environment. What are three benefits of implementing Hitachi
Dynamic Provisioning (HDP)? (Choose three.)

A. Data written across multiple disks optimizes performance.
B. User capacity can be allocated before storage is purchased.
C. User data is automatically mirrored to secondary storage.
D. HDP volumes can be dynamically shrunk.

E. HDP volumes can be dynamically expanded.

Correct Answer:. ABE
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